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" test M cowtro_ 2023-“?73} 4"

target z sequence = [0, @, @, {I, 1, 8, 9,1, 1,0,0,1,1, 6, 6, 8, e, 0,1, 1,1, 1]
machine state transition table SF(x,SP) = [5, 3, 1, 7, B, 4, 2, 0] (x=8}

(output z = 1 iff SP > 3)
sequence #01 = [1, 1, @, @, 1, a,
sequence #0Z = [1, 1, @, 1, 0, 25
sequence #03 = [1, 1, @, @, L, 9,
sequence #04 = [1, 1, 0, 1, 0, i,
sequence #05 = [1, 1, 0, @, 1, a,
sequence #0€ = [1, 1, 0, 1, 9, 1,
sequence #87 = (1, 1, @, @, 1, @,
sequence #08 = {1, 1, 0, 1, @, b1
sequence #69 = [1, 1, 0, 0, 1, o,
sequence #1¢ = [1, 1, e, 1, e, b
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sequence #11 = [1, 1, @, O, e IR - X
sequence #12 = [1, 1, e, 1, ©, 1,
sequence #13 = [1, 1, 0, O, 1, 8,
sequence #14 = [1, 1, 0, 1, @, 1,
sequence #15 = [1, 1, @, e, 1, o,

sequence #25
sequence #26
sequence #27
sequéince #28 X
sequence #29 = [1, 1, @, 8, 1, @,
sequence #3@ = (1, 1, @, 1, e, 1,
sequence #31 = [1, 1, @, @, 1, 9,
sequence #32 = [1, 1, 0, 1, @, 1,
sequence #33 = [1, 1, @, e, 1, 9,
sequence #34 = [1, 1, @, 1, 8, %,
sequence #35 = [1, 1, 0, 0, 1, ',
sequence #36 = [1, 1, @, 1, e, 1,

sequence #16 = (1, 1, @, 1, o, 1,
sequence #17 = [1, 1, @, ¢, 1, o,
sequence #18 = [1, 1, @, 1, @, 1,
sequence #19 = [1, 1, @, 0, 1, 9,
sequence #20 = [1, 1, @, 1, @, 1,
sequence #21 = (1, 1, @, @, 1, @,
sequence #22 = (1, 1, 0, 1, @, 1,
sequence #23 = [1, 1, @, @, 1, 'a,
sequence #24 = [1, 1, 0O, 1, @, 1,
=

NB. Lo #12 & Lo sapuierge

(e, 2, 3, 5, 1, 6, 7, 4] (x=1)
5712 3 4 8 & 7 (SP)

1,1, 0 1,1,1,0,1,1, 0,1, @
L e R, e,
0. 1,0 0 1,1,1,0,1,1,0,1, 0
0, 1,0 0 1,1,1,0,1,1,9,1,0,1, o]
0
%]
(7]
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1,0,1,1,1,@,9,1,0,8,1,0,0,1, @]
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